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RMQ(1,3)=9
RMQ(3,4)=9 g g
RMQ(0,0)=8 15 (0.1) (2,3) 5
RMQ(0,1)=8

RMQ(0,6)=10 8 7 3 9
€ (0,00 7(1,1) 23(2,2) 2 (3,3)
_ 8 7 3 9
RSQ(1,3)=19 3 . 3 9

RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

Al 8 |73 195|110




g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:
RmQ(1,3)=3

RmQ(3,4)=5 (0,6)
RmQ(0,0)=8

RmQ(0,1)=7 3

RmQ(0,6)=1 297 (0,3) (4,6)

RMQ(1,3)=9
RMQ(3,4)=9 7 ’
RMQ(0,0)=8 15 (0,1) (2,3) 12
RMQ(0,1)=8

RMQ(0,6)=10 8 7 3 9
€ (0,00 7(1,1) 23(2,2) 2 (3,3)
_ 8 7 3 9
RSQ(1,3)=19 3 . 3 9

RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

Al 8 |73 195|110




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=3

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

(0,6)
3
> (0,3) (4,6)
7 3
8 9
201 23 ) (4,5)
8 7 3 9
8 7 3 9
o (0,0) 7(1,1) 3(2,2) 5 (3,3)
8 7 3 9
87 3|9 1 10

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=3

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

(0,6)
3
> (0,3) (4,6)
7 3
8 9
201 23 ) (4,5)
8 7 3 9
8 7 3 9
500 211 32 563 (@4
8 7 3 9 5
8739|5110

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=3

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

(0,6)
3
> (0,3) (4,6)
7 3
8 9
201 23 ) (4,5)
8 7 3 9
8 7 3 9 5
o (0,0) 7(1,1) 3(2,2) 5 (3,3) c (4,4)
8 7 3 9 5
87 3|9 1 10

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=3

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

(0,6)
3
> (0,3) (4,6)
7 3
8 9
201 23 ) (4,5)
8 7 3 9
8 7 3 9 5
500 211 322 563 2@a (55
8 7 3 9 5 1
87 3|9 1 10

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=3

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

(0,6)
3
> (0,3) (4,6)
7 3
8 9
201 23 ) (4,5)
8 7 3 9 1
8 7 3 9 5 1
o (0,0) 7(1,1) 3 (2,2) 5 (3,3) c (4,4) 1 (5,5)
8 7 3 9 5 1
87 3|9 1 10

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=3

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

(0,6)
3
> (0,3) (4,6)
7 3 1
8 9 5
201 23 ) > (45
8 7 3 9 1
8 7 3 9 5 1
o (0,0) 7(1,1) 3 (2,2) 5 (3,3) c (4,4) 1 (5,5)
8 7 3 9 5 1
8 7 39 1 (10

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=8

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

8

& (0,0)

8

8

(0,6)
3
> (0,3) (4,6)
7 3 1
8 9 5
201 23 ) 245  (66)
10
7 3 9 1
7 3 9 5 1
7(1,1) 3 (2,2) 5 (3,3) c (4,4) 1 (5,5)
7 3 9 5 1
7 39 1 (10

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=8

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

8

& (0,0)

8

8

(0,6)
3
> (0,3) (4,6)
7 3 1 10
8 9 5 10
201 23 ) 245  (66) 1
10
7 3 9 1
7 3 9 5 1
7(1,1) 3 (2,2) 5 (3,3) c (4,4) 1 (5,5)
7 3 9 5 1
7 39 1 (10

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=3

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

8

& (0,0)

8

8

(0,6)
3 1
> (0,3) (4.6) 10
7 3 1 10
8 9 5 10
201 23 ) 245  (66) 1
10
7 3 9 1
7 3 9 5 1
7(1,1) 3 (2,2) 5 (3,3) c (4,4) 1 (5,5)
7 3 9 5 1
7 1319 1 10

Ali]




RmQ(1,3)=3
RmQ(3,4)=5
RmQ(0,0)=8
RmQ(0,1)=7
RmQ(0,6)=1

RMQ(1,3)=9
RMQ(3,4)=9
RMQ(0,0)=3
RMQ(0,1)=3

RMQ(0,6)=10

RSQ(1,3)=19
RSQ(3,4)=14
RSQ(0,0)=8

RSQ(0,1)=15
RSQ(0,6)=43

g8f5l: RmQ, RMQ, RSQ

Building Segment Tree:

8

& (0,0)

8

8

1
43 (06)
3 1
> (0,3) (4.6) 10
7 3 1 10
8 9 5 10
01 23 7 245  (66) 1
10
7 3 9 5 1
7 3 9 5 1
7(1,1) 3 (2,2) 5 (3,3) c (4,4) 1 (5,5)
7 3 9 5 1
71319 5|1 10

Ali]




g865: RmQ, RMQ, RSQ

Range minimum Query:

8

(0,0)
8

1
(0,6)
3 1
(0,3) (4,6)
7 3 1
01  (23) (4,5)
7 3 9 5 1
(L) (22 ((33) (44 (55
7 3 9 5 1
Ali] 7,13 9/5/1 10
i 112 (3]4|5]|6

(6,6)
10

10



g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [1,4]
RmQ(1,4)= (0,6)
3 1
(0,3) (4,6)
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
(0,00 (1,1) (22 (33) (44 (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
iy
Ul




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [1,4]
RmQ(1,4)= (0,6)
;
3 1
(0,3) (4,6)
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
0,00 (1,1) (22) (33) (44) (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
iy
Ul




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [1,4]
RmQ(1,4)= /106)
gy
3 A 1
©3) (4,6)
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
(0,00 (L1) (220 (33) (44) (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
iy
Ul




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [1,4]
RmQ(1,4)= /106)
v v
3 [1,/43»]_ 1
©3) (4,6)
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
(0,00 (L1) (220 (33) (44) (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
iy
Ul




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [14]
RmQ(1,4)= /(0,6 .
v ¥ N
3 33 1
03" (4,6)
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
00 (11 (22 (33) (44 (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
iy
Ul




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [1 4]
RmQ(1,4)= (o 6;
Y 14 y
3 [1/3\"] R 1
3™ " 48
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
0,00 (11 (2,2) (3,3) (44) (5,5)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
=
U




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 (L, 4]
RmQ(1,4)= (0 6)
L/ L/
3 [13] [4 4] 1
0™ g
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
0,00 (1,1) (22) (33) (44) (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
=
U




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 (L, 4]
RmQ(1,4)= (0 6)
L/ L/
3 [13] [4 4] 1
0™ g
(1,4 [2,3]
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
0,00 (1,1) (22) (33) (44) (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
=
U




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 (L, 4]
RmQ(1,4)= (0 6)
L/ L/
3 [13] [4 4] 1
0™ g
(1,4 [2,3]
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
X 10
[1,1]
8 7 3 9 5 1
0,00 (1,1) (22) (33) (44) (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
=
U




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 (L, 4]
RmQ(1,4)= (0 6)
L/ L/
3 [13] [4 4] 1
0™ g
(1,4 [2,3]
7 3 1 10
(o 1) (2,3) (4,5) (6,6)
10
11,11
8 7 '3 9 5 1
(0,0) \(1,1)/,' (2,2)  (33) (44) (55)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
=
U




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 (L, 4]
RmQ(1,4)= (o 6;
L/ L/
3 [1,}] [4w,\4] 1
max .
03" (4,6)
[L31712,3]:
7 / 3 1 10
(011) ‘\\(213),’/ (415) (616)
A 10
DL, L]
8 7 '\ 3 9 5 1
(OIO) “\\(111)/,’/ (212) (313) (414) (515)
8 7 3 9 5 1

Alill8 |7 /319 5/1 10
i |0

(AR
NI
w
=
o
(@)




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 (L, 4]
RmQ(1,4)= (0 6)
L/ L/
3 [1,}] [4{1] 1
max «_
03 ™" “(4,6)
[1,4] ,/’[2,3]‘\ [4,4]
7 / 3 1 10
(011) ‘\\(213),’/ (415) (616)
A 10
L, L] \
8 7 '\ 3 9 5 1
(OIO) “\\(111)/,’/ (212) (313) (414) (515)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3 6

N
=
U




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 (L, 4]
RmQ(1,4)= (o 6;
L/ L/
3 [1,}] [4R,\4] 1
max .
03 ™" “(4,6)
[1,4] ,/’[2,3]‘\ [4,4]
7 / 3 1 10
(011) ‘\\(213),’/ (415) (616)
Jra 4T, T ra aM 10
/11,11 [4,4]
8 7 '\ 3 9 5 1
(OIO) “\\(111)/,’/ (212) (313) (414) (515)
8 7 3 9 5 1

Alill8 |7 /319 5/1 10
i |0

(AR
NI
w
=
o
(@)




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 (L, 4]
RmQ( 114)= (0 6)
L/ L/
3 [1,}] [4w,\4] 1
max ~._
03 ™" “(4,6)
[1,4] ,/’[2,3]‘\ [4,4]
7 / 3 1 10
(011) ‘\\(213),’/ (415) (616)
Jra 4T, T /F’,.’—:.\-;‘\ 10
/11,17 14,41
8 7 '\ 3 9 5 1

00 (11 22 (33 (44 (55)
8 7 3 9 5 1

Alill8 |7 /319 5/1 10
i |0

(AR
NI
w
=
o
(@)




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [14)
RmQ(1,4)=3 (0,6)
¢ TNy
3 [13] [4,4] 1
/mi max'-._
(03) (4,6)
[1,472,3]: [4,4]
7 / ' 1 10
(011) ‘\\(213),’/ (415) (616)
A T 10
(3,11 14,41
8 7 '\ 3 9 5 1
(OIO) “\\(111),’/ (212) (313) |‘\\(4'14,)// (515)
8 7 3 9 5 1

A8 |7 131951 |10
i 0|1 3

N
=
U
(@)




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [4,6]
RmQ(4,6)= (0,6)
3 1
(0,3) (4,6)
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
(0,00 (1,1) (22 (33) (44 (55)
8 7 3 9 5 1

Alill8 |7 /319 5/1 10
i | 0 3 6

[HEY
N
)
o)




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [4,6]
RmQ(4,6)= (0,6)
3 1461 4
(0,3) (4,6)
7 3 1 10
(0,1) (2,3) (4,5) (6,6)
10
8 7 3 9 5 1
(0,00 (1,1) (22 (33) (44 (55)
8 7 3 9 5 1

Alill8 |7 /319 5/1 10
i | 0 3 6

[HEY
N
)
o)




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [4,6]
RmQ(4,6)= (0,6)
(0,3) \\‘\\\\(\{1,6},,:'
7 3 1 10

(0,1) (2,3) (4,5) (6,6)
10

8 7 3 9 5 1

0,00 (1,1) (22) (33) (44) (55)
8 7 3 9 5 1

Alill8 |7 /319 5/1 10
i | 0 3 6

[HEY
N
)
o)




g865: RmQ, RMQ, RSQ

Range minimum Query: 1 [4,6]
RmQ(4,6)=1 (0,6)
(0,3) \\‘\\\\(\{1,6},,:'
7 3 1 10

(0,1) (2,3) (4,5) (6,6)
10

8 7 3 9 5 1

0,00 (1,1) (22) (33) (44) (55)
8 7 3 9 5 1

Alill8 |7 /319 5/1 10
i | 0 3 6

[HEY
N
)
o)
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[0,9]

[5,7]

AN
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n [EZE&1E L level-order = fE3I&E O(4n)
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=l A e vd
— =y [0,1] [2,2] [3,3] [4,4] [5,6] [7,7] [8,8] [9,9]
¢ _Ewﬁﬁl*ﬂq /\ /\
[0,0] [1,1] [5,5] [6,6]

n [EZE&1E L level-order = fE3I&E O(4n)
n=10
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[0,4]
EE- [===] EIJ oo Fﬂﬂ %[0 {>< ]
— JCARES 5 )QRHBNMM
[0,0] [1,1] 5]

n EZENEL L level-order = (B35

n=10 = 23<n<2*

M
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EENZEE

32

[0,4]
[0,2] [3,4]

N

[0,1] [2,2] [3,3] [4,4]

7N\

[0,0] [1,1] [5,

n EZENEL L level-order = (B35

n=10 — 23<n< 24

= 2%* 2 (internal)

M



ZT_E’fE\Tl«‘,(IE?UT'ﬁSZ &

[0,4] [5,9]
ZE _wd B 63 B
S — 0] [2,2] [33] [44] [56] [7,7] [8,8] [9,9]
¢ _7E:|§Ex*ﬂq /\ /\

[0,0] [1,1]

- n {EEEIE level-order Fi= 3R E O(4n) 3n=30 4K

n=10 = 23<n<2% = 2%# 2 (internal) int st[32];



ToRESIER o —

[0,4] [5.,9]

== g5 ’JWFEIE] N /\

[0,2] [3,4] [5,7 [8,9]

N

—— . 0] [2,2] [3,3] [4,4] [5,6] [7,7] [8,8] [9,9
. T LA EDHE /\][][][]/\][][][]
[0,0] [1,1] [5,5]16,6]
- n EEEEELL level-order = EAEE O(4n)
3n=30 K
n=10 = 23%<n<2* = 2%x*2 (internal) int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31




ToRESIER o —

[0,4] [5.,9]

== g5 ’JWFEIE] N /\

[0,2] [3,4] [5,7 [8,9]

N

—— . 0] [2,2] [3,3] [4,4] [5,6] [7,7] [8,8] [9,9
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- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];

o1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20

09(04102|01|00|11




LRI R S
EENZEE
— SRR

n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1

’

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]
3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

091/04|59|02|34)57|89|01)22|33|44|56|77|88|99|00|11 55166
i 2i 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09{04|{02|01|00|11}|22
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— SRR

n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1

’

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]
3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

091/04|59|02|34)57|89|01)22|33|44|56|77|88|99|00|11 55166
i 2i 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09{04|02|01|00|11}|22)34
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1

’

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]
3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

091/04|59|02|34)57|89|01)22|33|44|56|77|88|99|00|11 55166
i 2i 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09{04|{02|01|00)11)22)34)33




LRI R S
EENZEE
— SRR

n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1

’

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]
3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

091/04|59|02|34)57|89|01)22|33|44|56|77|88|99|00|11 55166
i 2i 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09{04|02|01|00)11)22134)33|44
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]
3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

091/04|59|02|34)57|89|01)22|33|44|56|77|88|99|00|11 55166
i 2 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09({04|02|01|00|11}22)34)33144|59
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]
3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

091/04|59|02|34)57|89|01)22|33|44|56|77|88|99|00|11 55166
i 2 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09{04|02|01|00|11}22)34)33144|59|57
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]
3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

091/04|59|02|34)57|89|01)22|33|44|56|77|88|99|00|11 55166
i 2 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09{04|02|01|00|11}22)34133/44|59|57|56




LRI R S
EENZEE
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]

3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

09|04159|02)34|57|89]01|22|33)44|56|77|88|99|00|11 55|66
i 2 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09/04102|01/00{11|22)34|33|44|59|57|56|55
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

[0,2]
[2,2] [3,3] [4,4]

1]

[0,4]

3,4]

N

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

09|04159|02)34|57|89]01|22|33)44|56|77|88|99|00|11 55|66
i 2 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09|04102|01/00{11|22)34|33|44|59|57|56|55|66
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

[0,2]

1]

[0,4]

N

[2,2] [3,3] [4,4]

3,4]

M

= 2%* 2 (internal)

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

09|04159|02)34|57|89]01|22|33)44|56|77|88|99|00|11 55|66
i 2 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09/04102|01)/00{11|22|34|33144|59|57|56|55|66|77
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

= 2%* 2 (internal)

[0,2]

1]

[0,4]

N

[2,2] [3,3] [4,4]

3,4]

M

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

091/04|59|02|34)57|89|01)22|33|44|56|77|88|99|00|11 55166
i 2 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];
O 1 2 3 45 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
09{04|02|01|00|11)22)34133/44|59|57|56|55|66|77)89
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

= 2%* 2 (internal)

[0,2]

1]

[0,4]

N

[2,2] [3,3] [4,4]

3,4]

M

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

09

04

59

02

34

57

89

01

22

33

a4

56

77

88

99

00

11

55

66

AR EE"

2-2i+1

fxa LA pre-order 7= PESIEE O(2n)
int st[21];

n=10

o1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20

09

04

02

01

00

11

22

34

33

44

59

57

56

55

66

77

89

88
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

= 2%* 2 (internal)

[0,2]

1]

[0,4]

N

[2,2] [3,3] [4,4]

3,4]

M

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

09

04

59

02

34

57

89

01

22

33

a4

56

77

88

99

00

11

55

66

AR EE"

2-2i+1

fxa LA pre-order 7= PESIEE O(2n)
int st[21];

n=10

o1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20

09

04

02

01

00

11

22

34

33

44

59

57

56

55

66

77

89

88

99
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

= 2%* 2 (internal)

[0,2]

1]

[0,4]

N

[2,2] [3,3] [4,4]

3,4]

M

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

09

04

59

02

34

57

89

01

22

33

a4

56

77

88

99

00

11

55

66

AR EE"

2-2i+1

fxa LA pre-order 7= PESIEE O(2n)
int st[21];

n=10

o1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20

09

04

02

01

00

11

22

34

33

44

59

57

56

55

66

77

89

88

99




LRI R S
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n EZENEL L level-order = (B35

n=10 — 23<n< 24

[0,1]

7N\

[0,0] [1,

= 2%* 2 (internal)

[0,2]

1]

[0,4]

N

[2,2] [3,3] [4,4]

3,4]

M

4n)

3n=30 3K
int st[32];

O 1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31

09

04

59

02

34

57

89

01

22

33

a4

56

77

88

99

00

11

55

66

AR EE"

2-2i+1

fxa LA pre-order 7= PESIEE O(2n)
int st[21];

n=10

o1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20

09

04

02

01

00

11

22

34

33

44

59

57

56

55

66

77

89

88

99

i+1

i+4



ToRESIER o —

[0,4] [5.,9]

EE-EE IJD‘I:'FIEﬂ [0{><] 5/\

[0,1] [2,2] [3,3] [4,4] [56] [7,7] [8,8] [9,9]

o __JTHARERTE
__.jTJMJ R 18
1001 5511861
- n EEEEELL level-order = EAEE O(4n)
3n=30 A~ FPK
n=10 = 23%<n<2* = 2%x*2 (internal) int st[32];
O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31
09/04)59|02134|57189|01)22(33|44|56|77|88|99]00]11 55|66
i 2 2i+1
- n {EZEEIREDL pre-order Ei= [EFRE O(2n)
n=10 int st[21];

o1 2 3 4 5 6 7 8 9 1011 12 13 14 15 16 17 18 19 20

09(04102|01{00)11|22|34|33)44|59|57|56|55|66|77|89)88|99

i+1 fEF [ R E 2 ) F EENTTR 5
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the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];
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the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);



AR ExEIRYE(F (1)

* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vnid hatildlint v int A int rvrd) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1
if (Id==rd)
v[iv]=d[ld];

else
build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);
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* Range Min Query

Vv 0~7

O(4n) level-order array for - -
0~3 4~7

the storage of a full binary tree ot | 23 | 2% | o7

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Vv

n=8, requires 16-element array
0~7
0~3 4~7
0~1 273 4~5 6~7
Oj112|3|4|5|6]7
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Vv

n=8, requires 16-element array
0~7
0~3 4~7
0~1 273 4~5 6~7
Oj112|3|4|5|6]7
87 3951104
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Vv

n=8, requires 16-element array

® 0~7

0~3 4~7
01 | 2~3 | 4~5 | 677
0|1(2]|3|4]|5]|6]|7
87 3951104
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Vv

n=8, requires 16-element array

® 0~7

@ o3 4~7

0~1 | 2~3 | 4~5 | 6~7
o|l1|2|34a|5]|6]7
87 39511014
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Vv

n=8, requires 16-element array

® 0~7

@ o3 4~7

®o~1 | 273 | 4~5 | 6~7
o|l1|2|34a|5]|6]7
87 39511014
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Vv

n=8, requires 16-element array

® 0~7

@ o3 4~7

®o~1 | 273 | 4~5 | 6~7
@11|2(3|4a|5]|6]7
87 39511014




AR ExEIRYE(F (1)

* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Vv

n=8, requires 16-element array

® 0~7

@ o3 4~7

®o~1 | 273 | 4~5 | 6~7
@A |2(3|a|5]|6]7
87 39511014




AR ExEIRYE(F (1)

* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Vv

n=8, requires 16-element array

® 0~7

@ o3 4~7

®o~17| 2~3 | 4~5 | 677
@A |2(3|a|5]|6]7
87 39511014
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

vaid hatildlint v int lAd int rA) S
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the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

void build{int iv, int Id, int rd
if (Id==rd)
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#define MAXN 500

int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

void build{int iv, int Id, int rd) {
if (Id==rd)
v[iv]=d[ld];
else
build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
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* Range Min Query

O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500

int d[MAXN], v[4*MAXN];

e Recursive construction
build(1, O,n-1);

void build{int iv, int Id, int rd) {
if (Id==rd)
v[iv]=d[ld];
else
build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),

v[iv]J=min(v[iv*2], v[iv*2+1]);
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O(4n) level-order array for & o023 1 291
the ZEO:'agiAZiS :(L)J(y binary tree @5-1719>-33[02-c1%~74
erine
int d[MAXN], v[4*MAXN]; DAGBAS[2]9
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* Recursive construction n 7.8
build(1, O,n-1); Array size |14/16
viniA lastilldlint w inF A int rA) S
VUIU UUIIU\IIIL IV, 1N1L IU, IniL IU’ 1
if (ld==rd)
v[iv]=d[ld];

else
build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);
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 Recursive construction n 7189
build(1, 0,n-1); Array size 114 16/18
vnid hiildlint ivv int ld int rdAY S
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if (Id==rd)
v[iv]=d[ld];

else
build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);
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#define MAXN 500
int d[MAXN], v[4*MAXN];

* Recursive construction

void build{int iv, int Id, int rd
if (Id==rd)
v[iv]=d[ld];
else
build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),

v[iv]J=min(v[iv*2], v[iv*2+1]);
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O(4n) level-order array for

the storage of a full binary tree

#define MAXN 500
int d[MAXN], v[4*MAXN];
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* Recursive construction

n=8, requires 16-element array
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build(1, 0,n-1); Array size (1411618 26/26/30/30/30/30/32

void build{int iv, int Id, int rd) {
if (Id==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

e Recursive RmQ query [lq,rq]
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* Range Min Query

O(4n) level-order array for
the storage of a full binary tree

#define MAXN 500

int d[MAXN], v[4*MAXN];
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e Recursive construction
build(1, O,n-1);
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Array size (1411618 26/26/30/30/30/30/32

vaid hatildlint v int lAd int rA) S
VUIU UUIIU\IIIL v, 1L iy, 111t IUI 1

if (ld==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Recursive RmQ, query [lg,rq]

int RmQ(int iv, int Id,int rd, int lqg,int rq) {
if (lg>rq) return Ox7fffffff;
if ((lg==Id)&&(rq==rd)) return v[iv];

int md=(ld+rd)/2;

if (rg<=md) return RmQ(2*iv, |d,md, lq,rq);
else if (Ig>md) return RmQ(2*iv+1, md+1,rd, lq,rq);
return min(RmQ(2*iv, Id,md, lg, md),

RmQ(2*iv+1, md+1,rd, md+1,rq));
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* Range Min Query

O(4n) level-order array for
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Array size (1411618 26/26/30/30/30/30/32

void build{int iv, int Id, int rd) {
if (Id==rd)
v[iv]=d[ld];
else

build(iv*2, Id,(ld+rd)/2),
build(iv¥2+1, (Id+rd)/2+1,rd),
v[iv]J=min(v[iv*2], v[iv*2+1]);

Recursive RmQ, query [lg,rq]

int RmQ(int iv, int Id,int rd, int lqg,int rq) {
if (lg>rq) return Ox7fffffff;
if ((lg==Id)&&(rq==rd)) return v[iv];
int md=(ld+rd)/2;

if (rg<=md) return RmQ(2*iv, |d,md, lq,rq);
else if (Ig>md) return RmQ(2*iv+1, md+1,rd, lq,rq);

return min(RmQ(2*iv, Id,md, lg,md),

RmQ(2*iv+1, md+1,rd, md+1,rq));
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VUIU UUIIU\IIIL v, 1t iy, 1t 1u

e Recursive RmQ query [lq,rq]
){ |int RmQ(int iy, int Id,int rd, int lg,int rq) {

if (Id==rd) if (lg>rq) return Ox7fffffff;
v[iv]=d[ld]; if (lg==1d)&&(rg==rd)) return vl[iv];

else int md=(ld+rd)/2; ZE—EREAEEUZESIEERN
build(iv*2, Id,(Id+rd)/2), if (rqg<=md) return RmQ(2*iv, Id,md, lq,rq);

build(iv*2+1, (Id+rd)/2+1,rd), | |else if (Ig>md) return RmQ(2*iv+1, md+1,rd, Iq,rq);

vlivl=min(v[iv*2], v[iv*2+1]); | return min(RmQ(2*iv, Id,md, Iq,md),

RmQ(2*iv+1, md+1,rd, md+1,rq));
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vnid hasildlint v int lAd int rA
VUIU UUIIU\IIIL v, 1t iy, 1t 1u

e Recursive RmQ query [lq,rq]
){ |int RmQ(int iy, int Id,int rd, int lg,int rq) {

if (Id==rd) if (Ig>rq) return OX7fffffff; (o 2s/Tasnsess; 7 (2
v[iv]=d[ld]; if (lg==1d)&&(rg==rd)) return vl[iv];

else int md=(ld+rd)/2; ZE—EREAEEUZESIEERN
build(iv*2, Id,(Id+rd)/2), if (rqg<=md) return RmQ(2*iv, Id,md, lq,rq);

build(iv*2+1, (Id+rd)/2+1,rd), | |else if (Ig>md) return RmQ(2*iv+1, md+1,rd, Iq,rq);

vlivl=min(v[iv*2], v[iv*2+1]); | return min(RmQ(2*iv, Id,md, Iq,md),

RmQ(2*iv+1, md+1,rd, md+1,rq));
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build(1, O,n-1);
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printf("%d\n", RmQ(1, O,n-1, max(lq,0),min(rq,n-1)));
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ld<=t<=rd
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for (i=0; i<n; i++)
scanf("%d", &d[i]);
build(1, O,n-1);
while (2==scanf("%d%d", &Iq, &rq))
printf("%d\n", RmQ(1, O,n-1, max(lq,0),min(rq,n-1)));

« Recursive update

|d<=t<=rd
void update(int iv, int Id,int rd, int t,int val) {
if (Id==rd) // == update(1, 0,7, 5,6);
v[iv] = val;
else { v [© 0~7 3
int md=(ld+rd)/2; @ o033 @ 274
if (t<=md) Dp~17(92~33|@4~55(P6~74
update(2*iv, Id,md, t,val); Y CECECNCICECIE
else

update(2*iv+1, md+1,rd, t,val); 87 3951104

v[iv] = min(v[2*iv], v[2*iv+1]);
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e Recursive construction
build(1, O,n-1);

void build(int iv, int Id, int rd) {
int md;

if (Id==rd)
v[iv]=d[ld];
else

build(iv+1, Id,md=(ld+rd)/2),
build(iv+(md-ld+1)*2, md+1,rd),

v[iv]J=max(v[iv+1],
v[iv+(md-1d+1)*2]);
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e Recursive RMQ query [lq,rq]
int RMQ(int iv, int Id,int rd, int lq,int rq) {

if (lg>rq) return 0x800000000;
if ((lg==Id)&&(rq==rd)) return v[iv];

int md=(ld+rd)/2;
if (rq<=md) return RMQ(iv+1, Id,md, lq,rq);

else if (lg>md)

return RMQ(iv+(md-ld+1)*2, md+1,rd,lq,rq);
return max(RMQ(iv+1, Id,md, Ig,md),

RMQ(iv+(md-Id+1)*2, md+1,rd,
md+1,rq));
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« test RMQ

« Recursive update



o test RMQ scanf("%d", &n);
for (i=0; i<n; i++)
scanf("%d", &d[i]);
build(1, O,n-1);
while (2==scanf("%d%d", &Iq, &rq))
printf("%d\n", RMQ(1, 0,n-1, max(lq,0),min(rg,n-1)));

« Recursive update
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build(1, O,n-1);
while (2==scanf("%d%d", &Iq, &rq))
printf("%d\n", RMQ(1, 0,n-1, max(lq,0),min(rg,n-1)));

+ Recursive update \d<=t<=rd

void update(int iv, int Id,int rd, int t,int val) {
if (Id==rd) // ==
v[iv] = val;
else {
int md=(ld+rd)/2;
if (t<=md)
update(iv+1, Id,md, t,val);
else
update(iv+(md-ld+1)*2, md+1,rd, t,val);
v[iv] = max(v[iv+1], v[iv+(md-ld+1)*2]);
}
}
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